160 Power Seces Solwhons Worksheet (Solutions) Ll/ll/M)

= A
yz Z. GaX *aot A X 4 asz + a3x5*---

p—
-

A= 0

i 2 J Da. % - ’

j 2 NALX A, + LAy X 4 JAhy At (5(..()( + --
AP

\ . ~ P B
\,.,"! / : f y wee §) y r-‘. \ .
\-\» A \ * {0y ! F (U . 4 QR4
2 ’ ( / LA " o / ¢
v (¥

. N “ B
I (3 \\ \ 7 N . \ y [ & 14 } Lo 'y, # / . i
O - k \ &( \:\ \‘ \‘ lL ,,;’t“ 1 ,{; @ a.s r;{“ -r ,j’— €A ; A < j 9 ‘-) ‘-.." S .f + - ‘5
N 4 ] 4 " .";3 o Vs { !J 7}
1+ LX | t AL «*“/}_ﬁ X+ 14 {)( T J
"V a, 4 Cr okt b O3 X k- )
ALY S NP

f

- 1-01’( 6&0 ¥ K(Gag 4 {ik‘«r éflv;»
ox (Vag v Do Vg + 6o 4o
Oory ()= ~[ and @ = 3'(0)=
0 Loy 02 = 01 - “Ta, = A,
0= bag t Ve, = Qg = la, = ag=-L

0 = \1“»(+?'OC\1=7 Ay :"%Q'z_ =) QL(T-"?

“j"'\ T USSR



3. (WorkMy' + 2y’ =0, oLyl

O: (\* 8)&\ \;2(2\,‘ A (g(_\,))( 4 \2(@*&&( )(;1" 4 1O "Q-g )('1 + /_J

‘ , N  ¢' ’
£ ) [an Loge v bay CORAET

= Ja. vl C T WG, v Ay ) A (May- \bo, + Ga%) .

ch \5(0\ ) IN vffr ,‘_}*\; . i
O 7"(1?_*:’;\5],[ =/ u‘?; - O =7 Ay \

) 7
5= bagtle, o -5 9 K-k

O :\7.0\\«*\5@1*%@} ~ q"\:ﬂé(f)&z*%o%\

\j‘-z')( +K2' ‘%X3' X{{ b




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

